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const int MAXN=1e5+5,mod=1e9+7;

struct BIT
#define lowbit(x) ((x)&(-x))
int c[MAXN!;
void add(int pos,int v

pos<MAXN
c/pos/=(c/pos|+v)%smod;
pos+=lowbit (pos);

int query(int pos
int ans=0;
pos
ans=(ans+c|/pos | )%smod;
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pos-=lowbit(pos);
ans;

void clear(){mem(c,0);
treel,tree2;
int query(int L,int R
int ans=treel.query(R);
L)ans=(ans-treel.query(L-1)+mod)%mod;
ans;

void add(int L,int R,int v
tree2.add(L,v);
tree2.add(R+1,mod-v);

int al[MAXN],pw/ MAXN|,s MAXN];
int main

int n=read int();

_rep(i,1,n

alll=read int();

pwibl=1;

_for(i,1,MAXN

pwlil=(pw/i-1]<<1)%mod;

_rep(i,1,n
int vl=query(1l,alil),v2=query(alil,n);
v1=1LL*v1*pw/ n-1i/%mod;
v2=1LL*v2*pw| n-1i]%mod;
add(alil,n,vl);
add(1,alil,v2);
treel.add(ali!,pw/i- ;

_rep(i,1,n
s/il=tree2.query(1i);
treel.clear();
tree2.clear();
int i=n;i;i--
int vl=query(1l,alil),v2=query(alil,n);
v1i=1LL*v1*pw|/i-1]%mod;
v2=1LL*v2*pw| 1i-1]%mod;
add(alil,n,vl);
add(1l,alil,v2);
treel.add(alil,pwin-i]);

_rep(i,1,n
slil=(s[i|+tree2.query(i))%smod;
int ss=0;

_rep(i,1,n-
ss=(ss+1LL*(n-1i)*pw|[n-1i- %smod ;
_rep(i,1,n
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enter((ss-s[il+mod)%mod) ;
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const int MAXN= o

int dp[MAXN]| MAXN] MAXN ,mod;
void add(int &x,int y
X+=Y;

x>=mod ) X-=mod ;
int main

int n=read int();

mod=read int();

dp =1;

_for(i,1,n) rep(j,1,1) rep(k,1,j+1) for(t,0,
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_rep(p,1l,i+

p=]
add(dp[i+1][p] k<p?k: (k+ k>=p|,dplil[jlkl[t]);
i
t
j<k
add(dp|i+ pllj+ ydplil [jliklt]);

add(dpli+1][p]k yAdplil[j1IKI[E]);

p<=k
add(dpli+1][j+1][pllj<k?Ll:t!,dplil[jl[k][t]l);

int ans=0;

_rep(i,1,n) rep(j,1l,n+l) for(k,0,
add(ans,dp/nl[il[jl[kl);
enter(ans);

1

D.00ddogng

gd

00000 9982443530 0000000 $ntimesn$ 0000 $Q$0000000O0O0O0O0ODOODOOO
o0 UUU o

googod

$1\le n,Q\le 500%

D000 $x$00 $y$ 00000 $z$0%1\le x,y\le n,0\le z<998244353%[]

gd
goon

1. Sherman-Morrison formula: 0 O $A\InN\R™{n\timesn}$ 00 0000$uV\in\R*n$ 0O O OO
O $A+uv™T$ 000000 $1+vATAN{-1}u\ne 0$00 0 O $$ (A+uv~T)~{-1}=A"{-1}-
\frac{A” {-1}uv " TA™{-1}}{1+Vv"TA~{-1}u} $$ O O

2. 0000 %n$ 000000000 $a{ij}$0000 $i$000 $$0 000000000000
0000000 $n-1$0000000 $a{ij}$0000000 $M_{ij}$0

3. 00Q$a_{ij}$ 000 DDOO0$A {ii}=(-1)~{i+i}M_{ij}$0
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